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fo(x) =0 =00+ > _oif;
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POP: Polynomial Optimization Problem - 00000000
SDP: SemiDefinite Program - 00000000
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POPO O

min  x»
()4 s.t. xt+xy—1>0
—x2+x>0

00004/ (vV5—1)/2=0.78615...



SDPOOOOO 1. OD0OO0DOOO

» 0O00oogn

UQ(X) = (17X17X27X%7X1X27X22)T

— 00 200000000000000000

» u,(x): 00 xO0OOO r0000000000(00000
0)0000000(0000000)

» u(x) 00007
wn=(*1)
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M, (x) = u,(x)u,(x)": 0000000



goooood

M,(x) = u,(x)u,(x)T: 0OO0D0D0O0

1 X1

X1 X12
W= | 3
X1X2 X12X2
X2 xix3

X2

X1X2
3
2

X1 x%

X1X2
X1X23
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M, (x) = u,(x)u,(x)T: 0000000

1 X1 X X12 X1 X x§

" 2 3 2 2

M . X2 X1X2 X22 X12X2 X1X22 XS
2(X) - x2 X3 x%x x4 3xy  x2x3

1 1 172 1 1712 1712

X1X2 x12x2 x1x22 xf’xz x12x22 xlxg

x§ x1x22 x23 x12x22 xlxg’ xf
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M, (x) = u,(x)u,(x)T: 0000000

1 X1 X X12 X1 X x§
2 3 2 2
M . X2 X1X2 X22 X12X2 X1X22 XS
H(x) = 2 3 2x Z 3 2.2
1 1 1X2 | Xp  XpX2 XyX5
X1X2 x12x2 x1x22 xf’xz x12x22 xlxg
2 | x 3 2.2 3 4
2 11Xy X3 | XyXp X1X5 X
s(n,r)yxs(n,r) 00000
2r000000D0ODOOOO0OO0 (s(n,2r)0)
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M, (x) = u,(x)u,(x)T: 0000000

1 X1 X Xi X1X2 X5
% 2 3 2 2
M . X2 X1X2 X22 X12X2 X1X22 XS
2(X) o x2 X3 xX2x x4 X3xy  X2x2
1 1 17X2 1 17%2 172
X1X2 x12x2 x1x22 x13x2 ><12x22 xlxg
2 | x 3 2,2 3 4
2 11Xy X3 | XyXp X1X5 X

s(n,r)yxs(n,r) 00000

2r00000000000000 (s(n,2r) O0)

o000 veRsS() OoOO

vIM,(x)v = vTuu(x)Tv = (u,(x)Tv)? >0

= M(x)00000: (M(x)=0000)



SDPOOODO: Step 1

min  x»
st xf4+x3—1>0 «— My(x)=10000
(—x2+x)>0 « M((x)0DO00O0
— My(x)=0000O
0: 00000000000 4000000000000000
o0Do0o0oDoooo0Og



SDPOOODO: Step 1

min X
s. t. Xf—i—x§—120

» r>20000000000000
» r 0 0000 00000

(—x2+x) | x x; xix2 | = O
X2 | X1X2 X5

1 X1 X2 Xi X1X2 X22
X1 X1 X1X2 Xf X12X2 X1X22

X2 | X1X2 X22 X12 X2 X1 x22 X23
2 3 2 4 3 2,2
X1X2 X12X2 X1X5 Xf’XQ X12X22 X1X§

2 2 3 2.2 3 4



SDPOOODO: Step 1

min

s. t.

X2
x¢ + X§ >0
—x1 —|— X0 —x13 + X1X2 —X12X2 + X22
—x1 + x1x0 —Xf + X12X2 —XfX2 —+ X1X22
—x12x2 + x22 —X13X2 + X1X22 —X1 X2 + X2
1 X1 X2 X12 X1X2 X22
X1 X12 X1X2 x13 X12X2 X1X22
X2 X1X2 X22 X12X2 X1X22 XS =0
x? X2 x2xo | xt o xPxe x2x5 | T
T 1 1X2 1 1X2 X1 Xy
X1X2 X12X2 X1 X22 X13 X2 X12 X22 Xlxg
x22 X1 )<22 XS Xf X22 X1 X23 X§

>0



SDPOOODO: Step 1

min  xo
s.t. X+ x§ >0
—X1 —1— X2 —x13 =+ X1Xx2 —x12X2 + x22
—x1 =+ X1X2 —xf + X12X2 —xf’xz + x1x22
—x2xa + x5 | —x$x; +2X1X22 —x? x% +x3
() 1 X1 X Xi  X1xo X3
X1 X12 X1X2 Xf X12X2 X1X22
X2 X1X2 x22 X12 X2 X1 X22 x23
x? X3 x%x x4 X3xo  X2x5 =0
1 1 1X2 1 142 X1X2
X1X2 X12X2 X1 X22 X13X2 X12X22 X1X§'
2 2 3 2,2 3 4

(x0D (x0D000000000 (00000)

=0
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a b
Xy Xy > Yab

min  yp1

s.t. yao+ymu—12>0

—Y20 + Yo1 ‘ —Yy30 +t Y11 —ye1+ yo2
—y30+Yyi1 | —Yao+ Y1 —Yy31+ Y12
—y21 + Y02 | —Y¥31 + Y12 —Yo2 + Y03
() 1 |yi0 Yoi|Yeo Y11 Yoo

Yio | Y20 Y11 | Y30 Y21 Y12

Yoi | Y11 Yo2 | Y21 Y12 Y03 -0
Y20 | Y30 Y21 | Y40 Y31 Y22

yi1 | Y21 Y12 | Y31 Y22 Y13

\ Yo2 | Y12 Y13 | Y22 Y13 Y04

()0 (+)(=(«)) O (SDP)O O OO
(x) 0000 x* 00000y, =(x)(x)t0000)
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(- 0000 r0SDPOOOOOOODOSeDuUMI DOO000

r 2 3 4 5 6 7

¢Cr || 0.0000 | 0.0000 | 0.0024 | 0.0761 | 0.6813 | 0.7862

» D000 r=70000000

00004/(vV5—-1)/2=0.78615...
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» 000000000000 2r000 2 —10000000
00000000000000
» M,(x) 000000000,

2. 0000000000000 (x 0O

» 000000D00000000000000
» (x)0DOOOOO

3. (x)000000 SDP (+) 00000

4, 0000000 r0000 (()O0OOOOOOO0D0D000
r=70 (x) 000000000

OO00000oO0?0000D0O0O000O0O0DOO
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Polynomial Optimization Problem (POP)

min  fo(x)

<POP>{ ot FX)>0(i=1...

» fp : R” — R: polynomial.

» i R" =R (i=1,...,m): polynomial.
oo

1. 00000, mOOOOOOOO

2. ;,0000000C00DO
=00000000000000
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» (00) (POPY O NP (][],
» (00)(POPYOODODODODODODOOSDPOOODOO.
» (00)SDPOOOOOOOOOODOODN

» (0D0)SDPOOOOODOOOD(D000000) (POP)
0oooooo.

» (00)00000000(00000000)00.
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1. SbpPODO
(POP) 00000D0COODOOOOOOOUDDOODDOODOO
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2.50s 00
(POP) 0 SOSUOOODUOOOOOOOUO

(bopoososOoOpOopOoUOoOoUDooOoUoOoOooO
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v

v

vV vV vV VvV VY

000 x*=x{"x?%--x3" (o € Z7).
f:R" RO (n00)00000...

f(x)= Z fax™ for every x € R".

acG
Gezr:0OODO
fa €ER (a € G)
n00000000: R[x]
r0000n00000000: R,
0000 supp(f) ={ae€Z] |[fo #0}
00 deg(f) =max{>."; aj| a € supp(f) }



Oooogoososunon

v

O0: fO00000DO & f(x) >0 forall x € R"

00: f0SOSO00 « 00000 py,...,po 00000
f(x)=>7,p(x)>0000.

0000 fO0SOSOOOOO.

oooooo.
0 O Motzkin Polynomial x*y? + x?y* — 3x?y? + 1

sosOoOoOoOooo: £
2r0000S0S000000: X, =XNR[xa,

v

v

\{

v

v



Oooogo sosooooon

O0000o0oOooooo =SOoS(n-0boDoO,r00O)
» n=1
> r=2
»n=2and r=4

(00)00O0O0o0O0OO0 1700: fO0O0OOODOOOO, OO SOS
000 gOD0O0O0OD fg0 SOSCOoOOOO.
19270 Artin O OQOUOOODOO.
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» OO0 ogno u,(x): rO0000o0oooboogo
O :
ua(x1,x2) " = (1, x1, %0, X2, x1x2, X3)

» 2r 0000 f0O SOS
& 3X = O such that f(x) = u,(x)" Xu,(x) for any x.

RN

1 T

310
2x%2 —2xy + y> +2x+3=| x 1 21 X
y 011

» JO00O0O SOSOO00O0OoDooOOooOoOoOooooooo
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POP:
0" =inf{fo(x)|x e K}
where K = {x|fi(x) >0(i=1,...,m)}.
POP O OO

0" =sup{f|fo(x)—0>0(xe K)}




KOoooooooo

0" =sup{f|fo(x) —0>0(xe K)}

where K = {x|fi(x) >0 (i=1,...

m
Uo—l-Za;f; (cieXx, i=0,...,m)
i=1

0KDODOOO.
00 xeK OO Vi, gi(x)>0000

m

go(x) + > oi(x)fi(x) > 0.

i=1

(Dooooooo)



POP O SOS OO

0" =sup{0|fo(x)—0 >0 (x€ K)}
|oooooo

m
@:wp{m@u)—ezam+§:mﬁ}
i=1

000 o;€X(i=1,...,m).
» 0 <6 (SOSO0)
» SDP O

00, 0000 ¢,400000000000 2r000
(rO000D0D0)

O';EZ,I. (izO,...,m)

000 ro=r,ri=r—[deg(f})/2] (i=1,...,m).
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oi €X, 0000 f(x)—0=00+ ) oif
i=1
i
fo(x) = 0 = up(x) T Xour(x) + Y ur(x) T Xjur, (x)fi(x)
i=1
> X € Si(n’r") (i=0,...,m).

» D000 boobu=000000004d
= X;UDOoooooooog

» 0000000
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min  x»
()4 s.t. xt+xy—1>0
—x2+x>0

00004/ (vV5—1)/2=0.78615...



SDPOOOO(0O)

min  yp1
s.t. Yao+yus—12>0
—Y20 + Yo1 \ —Y30 + Y1

—y21 + Yo2

—Y30 + Y11 | —Ya0 + Y21
—Yo1+ Y02 | —Y¥31 + y12
() 1 | yio Yo1|ye0 yi1

—y31 + Y12
—Y22 + Yo3

Y02

yio | Y20 Y11 | Yo Y21
Yo1 | Y11 Yo2 | Y21 Y12

Y12
Yo3

Y20 | Y30 Y21 | Yao Y31
yi1 | Y1 Y12 | Y31 Y22
Yo2 | Y12 Y13 | Y22 Y13

1x1,3x3,6x60000000

Y22
yi3
Yo4



OO0 SosOd

min X
() s. t. Xf—i—Xg—lZO
—x2+x>0

1 sosO0
Xo — 0 =

u(x) T Xoua(x) + X1 (4 + x5 = 1) + w1 (x) o (x) (= + x2)
oo Xp=0,X1>0,X>=0

» 000: —0=(X)1u1— X3

> x1: 0=2(Xp)12

> xo0 1=2(X0)13 + (Xo)11

> x2: 0 = (Xp)a2 +2(X0)1a — (X0)11



SOsO oo Sbp

min —6
st. —0=(X))u1— X,
0= 2(X0)12
() 1 =2(X0)13+ (X0)u

0= (X0)22 +2(X0)1s — (X2)11

Xo= 0, X1 20,X = 0.

EEREEEEEE]

(+ 000O0D0OOOOOODO SDP
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dual

inf{fo(x)|xe K} &5 sup{f]fy(x)—60>0o0n K}
equiv.ﬁ Dljﬂ r USOSDD
DDDD‘UXQ’_)_V(X ﬁequiv.

dual
—

SDP({+) SDP ()
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KOooooooooooo

1. (0DODOO = (000D

2. 0000000000, (xyoOOooooooo

» xe KOOOOOO & fi(x)>0,...,fx(x) >0.
cf. O0OOOOOO000O:

0p = inf{cx|Ax=b, xe K},

Op = sup{by\s+ATy:c, sEIC*}

0000 6p (resp. p) 00000000000 =0p 0000
Op(resp. 0p) OO OO OOODDODOOO



Putinar 0 O O

oo (fA,...,fn,) DO0O000OO Quadratic Module (QM)

Q(fl,...,fm):{00+Za;ﬁ]o;€}:(i:O,...,m)}

i=1

O:feQh,...,fm)= f(x) >0(Vx € K)

0Qg 2
Qf,....f, 0000000000006, 16 as r— oo.

Putinar OO0 O
Q(A,...,fm,) D000O0O0OODO ODOOO

f(x) >0 (Vx e K)=feQh....Fn)



Quadratic Module

00 Q CR[x] O Quadratic Module
1eQ, R+QCR,XRCQ

cf. (A,...,fn) 000000 Quadratic Module (QM)

i=1

Q(fl,...,fm):{ao—i—sz;]a;ei(izO,...,m)}

» ¥ C QCR[x].
> Qfi.-.. fm) CRI] DO T
» —1< Q< QO proper



Oo0ooooo QM

QM QUOUOUOOOOD
M ueQ{xeRux)>0} 000000

cf. OO0 ROOOOOOOO
& Vx € R, dn € N such that x < n.

00 3. 00400000
1. QUDDOO0ODooOoaO
2. 3N € Nsuch that N — 37, x? € @
3. VpeR[x], IN € Nsuch that N+ pe Q
4. 3pi,...,ps such that p; € Q for every | C {1,...,n} and
{xeR"|pi(x) >0,...,ps(x) >0} is compact.
000 pi(x) = Mierpi(x).
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1. Putinar DO DO OO0ODOO200000

gb3000003=2=1=400000000000
googd

QM Q O proper & Q#R[x] 00 ODODODO
QM QOUOD0O0DQRN-QUOO000oooooouoooo
QM Q UOO proper 00 QU-QR=R[x] 0000

ICRx]000000000000acR"0000
xi—a €l (=1,...,n 000000000 feR[x]0D
00 f-f(a)eZ 00000000000

OLICRx]OOOOO<0el,I+1C1 R[x]ICI.
02 QUODO proper< QUIOOO QMO R[x] OO

N

o ok~ w
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